Chemistry 12 Acid Base Worksheet 2 Name k”‘é :

1. Fill in the missing values:
Solution [H;07] [OH7] pH ;| pOH
Water 1.0x107 | 1exi0' | T.oo oo
0.10 M HCI Lorio”' | Lo« | 100 13,00
0.010 M NaOH to~0" | toxi % | 12.00 2 0o
1.0 M HNO, {0 1.0 x10714 O.00 it o
1.0 M H,S0, 2.0 Sox10"T 630 | 14.30
blood 398x10% |zs5ics | [Tuse |eioo
16 M HNO; iL.o 6.25x10716 |~ 2o | /s zom
6.0 M NaOH 1.67x101% | s 43 19177 | = 0.7
0.10 M Na,0 5.0 ~ig 0. .20 i2.30 .70
0.010 M Ca(OH), so.5” | soze | iz3s | 1m0
2.0 M NaOH S0 2.0 14.30 | ~0o

2. Calculate the concentration of OH" in a water solution in which the H;0* concentration

is 1.0 x 10! M. Then calculate the pH, and tell whether the solution is acidic, basic,
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3. Calculate the concentration of H,O% in a water solution in which the OH" concentration

. 8 3 . . o qe .

1s 1.0 x 10° M. Then calculate the pH, and tell whether the solution is acidic, basic, or

p
neutral. . . . Lousio™™ -6 _ A ) ;
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4. Calculate the concentration of H:O1 and OH in a water solution in which the pH=
3 p

5.00. Tell whether the solution is acidic, basic, or neutral.
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5. Calculate the pH of a solution in which pOH = 13.00. Then calculate the concentration
of OH" and of H;O" in the solution. Tell whether the solution is acidic, basic, or
neutral. (Gir ] oaitogLrin o) = 1.0 K07 %M

PH= pho - purl: fHov - 1300 < Loo acidic

[0 ) = ot Thos (1.00) s o~
6. Calculate the concentration of OH in a watér solution in which the H;0" is 1.0x 10712
M. Then calculate the pH and tell whether the solution is acidic, basic, or neutral, and
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7. Calculate the concentration of H;0% in a water solution in which the OH concerl'tl'ati:t‘rrr"Cﬁ;"'——L
is 1.0 x 10°® M. Then calculate the pH, and tell whether the solution is acidic, basic, or
neutral and support your answer.
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